Corrigé Exercice 1

P(AUB) = P(A) + P(B) — P(ANB) =0,3+0,6 —0,2= 0,7,

P(AnB) 0,2 1 P(AnB) 0,2 2
Pg(A) = = = - Pys(B)= = e
5(4) P(B) 0,6 3 et a(B) P(A) 0,3 3.
Corrigé Exercice 2
, P(AN B)
o T8 = T BT sone P(AN B) = Pa(B) x P(A) = 0,32
, P(AN B) P(AnB) 0,32 8
Pp(A) = ——— P(B) = = = —
2 . P(B)  donc L B(A) 0,6 19,
. P(AUB)= P(A)+ P(B)— P(ANB) = ﬁ
g RO R

Corrigé Exercice 3
1. Notons /) “le dossier est détecté” et ' “le dossier est frauduleux”.
P(DNF) = P(D)Pp(F)=0,1x0,5=0,05
P(FNnD) 0,05
g Ol i :

0.0625
- Po(D) 0.8 =

Corrigé Exercice 4

1. Pa(B) =1— P4(B)=0,1

<. PH(E) =0,7

3. P(A)=1-P(A)=0,55¢Pg(B) =1— P4(B) = 0,3
P(AN B) = P(A) x Pa(B) = 0,45 x 0,1 = 0,045 P(AN B) = 0,405
P(ANB)=0,385¢ P(ANB) =0,165






